## Riviera Beach CRA Payment Authorization Checklist

Vendor Name:	J MICHAEL HAY	GOOD	
Control No.:	NA	Invoice No.:	NC-115
Invoice Date:	April 10, 2018	Payment Amount:	\$6,068.50
Project Superv	visor/Responsible Officia	l: SCOTT EVANS	
			Reviewed/Approved by
☐ Project "s	cope of work and deliv	erables" reviewed?	
☐ Payment work scop		n appropriate based on	
☐ Deliverab	les due with this invoid	ce have been received?	
☐ If final pa	yment, have all deliver	ables been received?	4)
schedule (	of payment is in agreen or is appropriate and is agreement amount, on	s within the limits of	<u>ş</u>
\$ <del>7</del> 5.50 00.00	reimbursement amoun s or amounts approved	0 5	
☐ The natur of the CRA		med is within the scope	
	payment have been by from the appropriate so		+
	for payment.	umentation have bee	
	pproved by the Board		
Motion No	NA		
or the Consen	nt Agenda, at its meetin	ng onNA	. (If applicable)

April 10, 2018

Riviera Beach Community Redevelopment Agency C/O Scott Evans 2001 Broadway, Suite 300 Riviera Beach, FL 33404

Re:

March Invoice

Dear Mr. Evans:

Attached are the statements for legal services from March 1, 2018 through March 31, 2018, in the total amount of \$6,068.50.

If you have any questions regarding this statement, please let me know.

Michael Haygood

Enclosures



J. Michael Haygood, PA 701 Northpoint Parkway Suite 209 West Palm Beach, Florida 33401 561-684-8311

## Statement

Invoice No: NC-115 Date: 4/10/18

Bill to:

Riviera Beach Community Redevelopment Agency

Scott Evans 2001 Broadway Suite 300

Riviera Beach, FL 33404

General Administration							
Hourl	y Fees						
<u>Date</u>	<u>Description</u>	Timekeeper	<u>Time</u>	Rate	Amount		
3/1/18	Telephone Conference	J. Míchael Haygood	0.6 hrs	\$265.00/HR	\$159.00		
	Telephone conference with	Damian Albert re: Co	ogle:				
3/5/18	Document Review	J. Míchael Haygood	0.2 hrs	\$265.00/HR	\$53.00		
	Review of title information	for applicant for hou	sing grant.				
3/5/18	Document Review	J. Michael Haygood	0.4 hrs	\$265.00/HR	\$106.00		
	Review of legislative alert.						
3/6/18	Telephone Conference	J. Michael Haygood	0.5 hrs	\$265.00/HR	\$132.50		
	Telephone conference with	Andy DeGrafenreidt.					
3/6/18	Telephone Conference	J. Michael Haygood	0.4 hrs	\$265.00/HR	\$106.00		
	Telephone conference with	Darlene:					
3/6/18	Document Preparation	J. Míchael Haygood	1.5 hrs	\$265.00/HR	\$397.50		

Review of CRA office lease and preparation of email to Carlos Santerio.								
3/13/18	Research	J. Michael Haygood	1.1 hrs	\$265.00/HR	\$291.50			
	Review of City Charter regarding term of lease for Marina.							
3/15/18	Telephone Conference	J. Michael Haygood	0.3 hrs	\$265.00/HR	\$79.50			
Telephone conference with Tanya Davis Johnson.								
3/15/18	Document Review	J. Michael Haygood	0.7 hrs	\$265.00/HR	\$185.50			
	Review of letter re: home improvement grant.							
3/20/18	Meeting	J. Michael Haygood	1.1 hrs	\$265.00/HR	\$291.50			
	Meeting with Commissioner Davis and Scott Evans.							
3/21/18	Document Review	J. Míchael Haygood	3.1 hrs	\$265.00/HR	\$821.50			
	Review of OE1E Reports for Commercial grant program.							
3/22/18	Telephone Conference	J. Michael Haygood	0.3 hrs	\$265.00/HR	\$79.50			
	Telephone conference with Darlene re; Boys Club.							
3/23/18	Document Preparation	J. Míchael Haygood	1.7 hrs	\$265.00/HR	\$450.50			
Preparation of resolution and contract for Anderson $\mathcal{E}_t$ Carr.								
3/23/18	Document Preparation	J. Míchael Haygood	2.3 hrs	\$265.00/HR	\$609.50			
	Preparation of resolution and agreement for Miller3.							
3/23/18	Document Preparation	J. Míchael Haygood	1.8 hrs	\$265.00/HR	\$477.00			
	Preparation of resolution for Commercial grants.							
3/26/18	Document Review	J. Míchael Haygood	1.5 hrs	\$265.00/HR	\$397.50			
	Review of email from Conrad 1	re: CAM payment	from Tikki and	Subleae agreem	ent.			
3/28/18	Meeting	J. Michael Haygood	3.0 hrs	\$265.00/HR	\$795.00			
	Attendance at CRA meeting.							
3/28/18	Research	J. Míchael Haygood	0.9 hrs	\$265.00/HR	\$238.50			
	Review of State statute and bylaws re: appointed of Chairman of CRA.							
3/29/18	Review Document	J. Michael Haygood	1.5 hrs	\$265.00/HR	\$397.50			
Review of Neighborhood Garden lease.								
	Hourly Fees Total		22.9 hrs	\$6	,068.50			